N = 0l & AFESE H Ml A
20249 =& 2 3 LB sASRSH
A SAERSH
M /s N
el 222 setE X (CHl: X 21)
2A - B C9(3) - MPAY - BES Ofl o I3 o GImE==l
SAEZERSH 13,717,282 13,631,962 85,320
= 197,840 196,600 1,240
(o= 809,593 804,209 5,384
= 50,000 50,000 0
o 12,659,849 12,581,153 78,696
=E K& 1,366,539 1,434,756 268,217
= 22,800 22,800 0
(o= 172,642 167,642 5,000
= 50,000 50,000 0
i 1,121,097 1,194,314 NT3,217
=222 st N 606,200 674,417 268,217
== 94,000 89,000 5,000
o 512,200 585,417 AT73,217
HelMAIE =E843 XIRAA 28,000 0 28,000
(o= 8,400 0 8,400
i 19,600 0 19,600
308 AtXIHHMSO0I& 28,000 0 28,000
(o= 8,400 0 8,400
i 19,600 0 19,600
13 SO SOICHEHE A X IETALSEY 28,000 0 28,000
O 2 =S A} 28,000,0002! 28,000 0 28,000
== 8,400 0 8,400
i 19,600 0 19,600
sSHEFINS X (XHH) 30,000 114,317 A84,317
301 EtEEZ 30,000 114,317 A84,317
14 JIEtE&Z 30,000 114,317 A84,317
OsS4a2 ZEHIE K& o 0 30,000 A30,000
Ot =4t dgdl K& o 0 34,317 N34,317
OJIBAE ZHHIE XA
10,000,0002 10,000 30,000 A20,000
K-site 852 SEXZ ALY 278,600 290,500 A11,900
== 79,600 83,000 A3,400
o 199,000 207,500 28,500
307 212t01& 278,600 290,500 A11,900
(o= 79,600 83,000 23,400
i 199,000 207,500 28,500
02 QIRHEAAMEE R 278,600 290,500 211,900
OZZ HE-l K& 278,600,000 278,600 290,500 A11,900
(o= 79,600 83,000 23,400
i 199,000 207,500 28,500
SttE 23" 2st 672,450 637,450 35,000
= 93,000 93,000 0
== 57,000 57,000 0
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PN sASRSH
M it WY Lt
Rl AN ZYARYS CEREERD
2A - ZH () - MRAY - HAS Ol &F2H JE A Hws2
i 522,450 487,450 35,000
MAY B} 672,450 637,450 35,000
= 93,000 93,000 0
= 57,000 57,000 0
o 522,450 487,450 35,000
2TAIE K& & 22 305,000 270,000 35,000
401 AlEHIZL 08I 35,000 0 35,000
01 Al&H| 35,000 0 35,000
OH ST FHEHISA
35,000,000 35,000 0 35,000
el EM KA 1,822,111 1,819,111 3,000
= 17,000 17,000 0
= 371,667 371,667 0
o 1,433,444 1,430,444 3,000
sS4tE A EH E4dst 430,172 427,172 3,000
= 5,200 5,200 0
o 424,972 421,972 3,000
ZZIC H=HH 2F N 221,040 218,040 3,000
201 23| 78,483 75,483 3,000
02 Z523| 22,808 19,808 3,000
O3z 7 11,404, 0002291 2~ 22,808 19,808 3,000
SAZ0PIE A 1,751,744 1,701,744 50,000
= 1,000 1,000 0
o 1,750,744 1,700,744 50,000
OHRHIE AL 1,751,744 1,701,744 50,000
= 1,000 1,000 0
o 1,750,744 1,700,744 50,000
ORAE X 669,910 619,910 50,000
301 et Z 500,000 450,000 50,000
14 JIEIE&Z 500,000 450,000 50,000
OMHIIEATE &F HisHl X3
2. 500=%200,0002A 500,000 450,000 50,000
SENMETAAS 468,645 433,645 35,000
= 4,400 4,400 0
= 9,800 9,800 0
i 454,445 419,445 35,000
SENHE A 312,845 282,845 30,000
= 4,400 4,400 0
= 2,800 2,800 0
i 305,645 275,645 30,000
MEFoEEZ 2Y 130,545 100,545 30,000
201 et 3| 22,800 12,800 10,000
02 2224l 15,000 5,000 10,000
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PN sASRSH
M SEMETHEAMY
ol SENEAS CEREERD
2A - B C9(3) - MPAY - BES Ofl o I3 o GImE==l
OMERIEB2 2 44 A7
3,000,000 %500 A 15,000 5,000 10,000
401 Al &EHIZL LY 40,000 20,000 20,000
01 Al&Hl 40,000 20,000 20,000
OsENE SRML =
8,000,000 %571 A 40,000 20,000 20,000
MED) | =AY 150,800 145,800 5,000
== 6,000 6,000 0
o 144,800 139,800 5,000
SENY st S4 46,000 41,000 5,000
301 EtEEZ 5,000 0 5,000
11 EALHIXIRAZ 5,000 0 5,000
OsEASSHH HAKIR
1,000,00024%53] 5,000 0 5,000
HOHE M2 2H J=us 5,000 5,000 0
< 1,500 1,500 0
i 3,500 3,500 0
201 et 3| 3,000 0 3,000
< 900 0 900
o 2,100 0 2,100
01 AtR2elt] 3,000 0 3,000
OHHE M2It 24 J=u=s dA =2
1,000,000&*33| 3,000 0 3,000
== 900 0 900
o 2,100 0 2,100
202 44| 2,000 5,000 A3,000
< 600 1,500 2900
i 1,400 3,500 A2,100
04 =M=t 2,000 5,000 23,000
OXgsg M2 A5 0HE =0
2,000,000 19! 2,000 5,000 A3,000
== 600 1,500 A900
i 1,400 3,500 22,100
SESA 2435 5,830,684 5,817,559 13,125
= 60,640 59,400 1,240
== 197,484 197,100 384
= 5,572,560 5,561,059 11,501
sI|HAE XA 2,507,968 2,504,868 3,100
= 60,640 59,400 1,240
== 197,484 197,100 384
o 2,249,844 2,248,368 1,476
SIHSSHEX 2 31,600 28,500 3,100
= 12,640 11,400 1,240
< 3,784 3,400 384
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A saERSH
M SESA 243t
el SIIAA X3 CEEEN
2A - ZH () - MRAY - HAS Of] &K J &3 o Hws2
i 15,176 13,700 1,476
402 2IZ2ERHE0I1A 31,600 28,500 3,100
= 12,640 11,400 1,240
== 3,784 3,400 384
= 15,176 13,700 1,476
02 CIZEXI= AL B (0| M THS) 31,600 28,500 3,100
OsJIHSHEX 22 K&
100,000 *316CH 31,600 28,500 3,100
= 12,640 11,400 1,240
== 3,784 3,400 384
= 15,176 13,700 1,476
sE SA 243 3,322,716 3,312,691 10,025
120X HAS AL SAtES XIA 54,125 44,100 10,025
301 Let2d= 20,225 10,200 10,025
11 #ALAHIXIRAZ 20,225 10,200 10,025
O120RHASAMRE A& HAS
415,00024%350! 14,525 4,500 10,025
HRES(s4ERE) 75,671 58,259 17,412
I=PSNES 75,671 58,259 17,412
Pxr3aerea 75,671 58,259 17,412
802 Btat=DIEt 75,671 58,259 17,412
01 =NExZeEa 23,011 16,253 6,758
02023 GAP oHX N 24 XIRAY &EHEHH(
OIXIZE) 831,770 832 0 832
O2018E sEAASECHLSIRAAY T
&M (0| Ktz st 1,751,600 1,752 0 1,752
0201949 ==X =SSatESHXI2IAIY O XHe
Al oK 101,920 102 0 102
02020 sEAASECHASIRIRAAY Ol A+
a4 6,740 7 0 7
O2022d A2 | XIAAIY EEHEH(
OIXIEL &) 447,040 448 0 448
02023 H2A4=22(d| XI2AIY e EoH(
Ol Rt Eé) 3,616,480& 3,617 0 3,617
02 Al - THIEZSEHE3 52,660 42,006 10,654
O2022d A2 | XIAAIY EEHEH(
OIXIZE) o 0 449 A449
02023 HRAm2A | XIAAIY EEHEH(
Ol KtIL &) o 0 3,617 A3,617
02023 GAP Ot 24 XIJAAMR &S EHH(
Ol KtIL &) 249 520 250 0 250
02023 2AZCE LAY HHRH(0|XHE
&) 13,806, 780& 13,807 0 13,807
020188 ==X SeHetEst NJIAIY &H
ZHH(O|RHEE) 660,460& 661 0 661
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SN S
B TR
el HIE

SA - BB CRI(E]) - HRAIY - BIES Ofl ko =
02019 SEXA=E s XA OIXF
2o 3902 1
OP020 SEXIA=E MRS XA OIXF
A 7502 1
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